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Puzzle 1 (Very hard, difficulty ratin

|

~(o|afmjof—jofwv|st] ||| m]o|o| =[] — _M5186_!4923 O]~ |o|<t|oo|~|m
M o

(|| |(o|~|o(m|a]  slo|o|w]st |~ —]c|w|m Aafo|—|o|—[m]< || o —| oo m|wo| |~ <t || o
5 5 5

< ||| w]—|wol~ ...m?__{1356984 Sloo|o| < N|w|ofjo|—]— oo~ <t |m|oo|olw]—| o]
o 3 2]

[ee]iTe] [%e] [l KaN] Ke2] RSl Rand (00} e[| oo m|o w689132547 w819735246
3 E E

[2]KaN] Kep] haud 5 il Keo] [%e] [ [ To) ."m139684_.0_{2. Bl || —|w|o|~|o|o|] T~ |wW]o||fm || —
© IS IS

—|<t|~|wo|m| ||| s]o|vj©of=[m|w]<|—|o S~ ||| <t | |m|o Slm||ol<t|—|o]~|o|o

e] e]

%]
© ) )

[Ze] [ [Te] [ o] Rad KaN] [e] RSi Ke)) wjo|wfNjo|—|olm| <~ /M\8_.06_{21394 /M\?_689431_b_{
o~ ™ <

N|— [ o] m]~|mo|w oo ol |m] || o|o|—|m]<|o|ww]cuf—|w© ofjw|[m|—]o|~|o]o|| <
N N N

m|o |||~ ||| — Du.31426_{89_b Du.142369_{8_.0 Du.497251638




